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2019 (A) (ZQ_/_ A

i SSC PART-ll (10th CLASS)

CHEMISTRY (NEW SCHEME) GROUP-  ( 2015-2017 ¢ ) iy - s/ (£ ) §p4
TIME ALLOWED: 1.45 Hours SUBJECTIVE ¢l 45 =
MAXIMUM MARKS: 48 48 = AF
NOTE: - Write same question number bl g ISR b oy WY -2
and its part number on answer book, as given in the question paper.
SECTION-I sl
2. Attempt any five parts. 10 =2x5 it 8 240
() Why at equilibrium state, reaction does not stop? Wkl u’f‘wdﬁt{( Ak ()
(i) Whatis the Dynamic Equilibrium State? te Yot LEn i)
(§) How can you know that a reaction has achieved te WAk n}..u‘ﬁmfr.;a‘gf.,f (i)
the equilibrium state?

(iv) How prediction of a direction of reaction is carried out? SedL M BdelfSs )
(v) Write one use of each of the following:- LKL e LSS (V)
(i) Sodium Silicate (i) Potassium Nitrate A (i) e ()

(V) Write two examples of Double Salts, Lhenf A )
(Vi) Write two properties of Bases. iy (i)
(viij) Write Conjugate acid of each of the following:- LI e LSS (i)

() NH; (i) HCO3'
3. Attempt any five parts. 10 =2x5 Efe 2Oz 8 340
i)  Give two basic conditions for an element to {ug. e dneaP S gilind LLARAE S b )
exhibit catenation.
(§) Define Coke. Wite its uses. Gl LA @
(i) Write names of four types of formulae of Organic Compounds ~E L O SR LB T (i)
(iv) Define Unsaturated Hydrocarbons with general formula. \..é—.ﬂ/tf 25 oSl rilz ()
(v) Describe the preparation of Alkanes from Alkyl Halides, 4,£ng (Atkanes) ¥ (v)
(vi) Define Polysaccharides with an example. &/ (Polyspocharides) 51/83/nfnli ()
(vil) Write down two comercial uses of Enzymes. ‘ééf..m».; jddéﬁﬂ (vil
(vii) Give function of “DNA". (vii)
4. Attempt any five parts. 10=2x5 -é{fuﬂiﬁl?i&tg‘jf 44y
() Write the names of two acids present in Acid Rain. Ghlsitmanggia G
(i) Give a reaction between Ozone and a Free Radical. gLl Kt ashLisin (i)
() White down two major sources of CO  and CO,. Pl oy » co (W)
(V) Why is the water molecule of polar nature? tebrud KEAJARYL (W)
(v) Differentiate between Soft and Hard Water. ~ENTALIU # Sy (V)
(Vi) Wite the names and formulae of two Copper Ores, St L i ()
(vii) What do you know about Blister Copper? WU AP (vil)

(vii) What happens when O, Is passed through Ammonical brine? et/ % Jbd? €Oy =tiebrica (i)
SECTION-II (222

NOTE: - Attempt any two questions. 18=9x2 & fenl e tvnef o)
5.(A) Whatis the importance of Equilibrium Constant? Explain. 5 E O e ALt ()5
(B) Write down four physical properties of Acids. Pt ()
8.(A) Define Alkynes also explain two methods of 5 ..,g/.»u.Jua)xéd/ngm;:q/Jﬂ!ﬂ' ()-8
preparation of Alkynes.
(B) What are Polysaccharides? Give their properties. 4 el WAl (L)
7.(A) Wite uses of Diesel Ofl and Fuel OIl 5 J_vwfdlﬂf'dd (-7
(B) Which of the qualities make water a best solvent? 4 e wedng g el ()
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"|PAPER CODE 2019 (A) ( é/ A

NUMBER: 3481 SSC PART-ll (10th CLASS)

CHEMISTRY (NEW SCHEME) GROUP-I (20152017 o )ty - oo/ (/£ ) ¢4

TIME ALLOWED: 15 Minutes OBJECTIVE Lf'g/w 15 =

MAXIMUM MARKS: 12 12= Af
fecf L FARISSL e f Uil s vl g 3632 - gL &1 D o C B A AR P LSy -2/

{g4dr -fi—?&’uﬁﬁgtsfucézﬂ\;i-f-‘i st O RS R ST Sk y LT e ST s
Note: You have four cholces for each objective type question as A, B, C and D. The cholce -/ /= re v
which you think Is correct, fill that bubble in frant of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling iwo or more bubbles will result in zero mark in that question. Attempt as
many questions as given in objective type question paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this shoet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) If Qo < K the direction of reaction will be:- el Eigin 0 < Ke /i (1)
(4) Forward direction &L T (B) Backward direction ASS
(C) Equilibrium state =/ J5E1 (D) Forward and backward direction = fa #L T
(2) K is always equal to:- -ebeds 28 Ke (2)

(3) Acetic acid is used for-- -
(A) Flavouring food L LLes/ififls  (B) Making Bxplosive & £ L4212

(A) "%’ (B) ’%}_ @0’%’ 0) ”%
7

meiady ()

(C) Etching designs &L Lt (D) Cleaning LEJus®

(4) Conjugate base of Sulphuric Acid is:- ’ @O, PRV L{ (120077 )
(A) SO (B) s+ (C) HSOF ® HsO;

{5) The Coal which has B0 percent content of Carbon is called:- .g.'!h-?.‘g_?l: .I‘Cwb’ud 80 LLS  (5)
(A) Peat s (B) Lignite & (C) Anthracite <21 A1 (D) Bituminous (&

(6) Dehydration of Alcohols can be carried out with:- el EnsPh @
(A) NaOH (B) KOH (C) Hy80, (D) HCI

(7) Among the following _____ is a Triglyceride. e el (M)
(A) Carbohydrates (2.5448 (B) Proteins # (C) Lipids 4/ (D) Vitamins s

(8) The formula of Palmitic Acid is:- WA, (8)
(A) C7H3sCOOH  (B) C7H3COOH  (C) Ci7H37COOH (D) Cy5HyCOOH

(9) The cause of Giobal Warmingis _____gas. evd ___2lntf
(&) COy (B) SO, (©) NO, D) 05

(10) lonic compounds are soiuble in water due to:- -J:J”-’nﬂésc.pJ _mET (1)
(A) Hydrogen Bonding £/ ¥| (8) lon-Dipole Forces yiJg/i-cfT
(C) Dipole-Dipole Forces »#sdi-Jslt (D) Dipole-Induced Dipole Forces 4 jisiat.dgds

(11) Potable water on earth is only ___of total water on earth. edilzdy _ opddergts ()
(A) 02% (B) 06% (©) 2.1% (D) 40%

(12) The boiling range of Petroleum Ether is:- -q-ﬁh-a"t‘/z’f’ﬁ (12)
(A) 80-170°C (8) 20-170°C (C) 30-80°C (D) 170-250°C
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2019 (A) /) A
SSC PART-I (10th CLASS) s
" CHEMISTRY (NEW SCHEME) GROUP-lI ( 2015-2017 &% ) I - .,J ( (t‘ £) gt

TIME ALLOWED: 1.45 Hours SUBJECTIVE J¥L» Hras =
MAXIMUM MARKS: 48 a8 = AF
NOTE: - Write same question number - bR gy DR gE &HAZA’I.}MQ"Q“ -d

and its part number on answer book, as given in the question paper.
SECTION-l Jsle

2. Attempt any five parts. 10=2x5 -l Ly 8 240
() What are reversible reactions? Give example. -EJe Sl A, ()
(i)  What is equilibrium constant? Write its units, -J.»gz_w te YA (i)
(i) Write any two macroscopic characteristics of dynamic equillbrium el LA RS ASE S ()
(iv) What is meant by extent of a reaction? et e w50 (V)
(v) State limitations of Arrhenius concept. L FLSET (v)
{vi) Write the uses of Nitric acid and Benzoic acid. LA A )
(vil) Write names and formulas of two double saits, Ll Ak i)
(vilj) Write names of two acids found in apple and citrus fruits. -...j%t.’_')klué_.vilgz.hﬁ.'.’}\f/‘w-,—r (viii)
3. Attempt any five parts. 10=2x5 .&ﬁmam&g.—_éf -3
() What is meant by Functional group? Give an example. e fe :I/Lfa-r-/;}"’ﬂ 0]
(i) Give one difference between Aldehydes and Ketones,) LIROALR 75 K ()
(i) Write four uses of Natural gas. ' e Ly iy
(iv) What is meant by hydrogenation of Alkenes? et e Mi’fd' (Alkenes) Aa‘ (iv)
(v)  Write two uses of Acetylene. .g.'d;. Wl ()
(vi)  Write two sources and two uses of Proteins. I el sy (Vi)
(vil) What is Polysaccharides? Give an example, e Ay i
(viii) What is hydrogenation of Vegetable oil? PV ZLy ST dutauy  (vill)
4. Attempt any five parts. 10=2x5 .i]ﬁvlﬁlz'ﬂ‘-(y Y
(i)  Write composition of dry air. L fRndlns )
(1)  Define acid rain. ~E s (i)
() Describe two serious sffects of Ozone depletion. -k AL L iy (i)
(iv) Why water is called a universal solvent? fe el JJVJI-"#-!'JE ()
(v) What Is Capillary action? te it wx W
(vi) Define metatiurgy. LA g
(vil) Write two uses of Urea, E bl (i)
(viil) Wite the names of different metafiurgical operations. L AN i)
SECTION-I 3.2

NOTE: - Attempt any two questions. 18=9x2 -é(/{'—klkﬁ-'-'ﬂ'nr—‘jf -
S{A) Wiite five macroscopic properties of dynamic equilbrium. 5§ -z fe et LALELIEAEILES (L5

(B) Explain Lewis concept of Acids and Bases with examples. 4 Zlhe sl ALt (L)
6.(A) Write the five sources of Alkanes 5 -g.‘q//rﬂgé (Akanes) % (h)-6

(B) Write one source and one use of each of a4 = (Bt S 008 D g ol A g ()

Vitamin A and Vitamin D.
7.(A) How is Urea manufactured? 5 -t 1 Bineth sevelice v (07
Explain showing the flow sheet diagram.
(8) Write two methods for removal of 8 FLslend WLi TP nangldy ()

permanent hardness of water with equations.
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NUMBER: 3482 SSC PART-I (10th CLASS) / 2

CHEMISTRY (NEW SCHEME) GROUPHI (20152017 ™ ) s = oo/ (/&) 4

TIME ALLOWED: 15 Minutes OBJECTIVE (4.2 w15 = &
MAXIMUM MARKS: 12 2= Af
P /CL):}I).HPJWL.FIR.:/:‘J g t.".v.':Jr,f{\él’g}'x NLLDHCBA .-—}Ut.‘f:*éu‘-’rg ey

¢34dr KA oS Sl S APV LN R R gt LS sl L L8
Note: You have four choices for each objective type question as A, B, C and D. The choice -.,:f;d"),'q.:.ulr
which you think Is correct, fill that bubble in front of that question number. On bubble sheet, use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. Attempt as
many questions as glven in objective type quesation paper and leave others blank. No credit will be awarded
in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 | /,"J'r
(1) Thevalueof Kc depends upon:- <hedfibd ke (1)
(A) Temperature 7 (B)Pressure £ %,  (C)Volume s (D) Density /(7
(2) For the following reaction units of K¢ are:- Lonfl Ke LLtigdes )
Hy+ I, v 2H1
(A) mol™" .dm* (B) mol dm™ (C%Ldm; (D) No unit gf‘i’}!é]r

(3) Lactc acid occurs i~ 5. et (3)
(A) Rancid buter (2ot (B) Sourmilk (Lo (cbges LUsF (D) Apple Loz

(4) The colour of Fe(OH)3 is- ‘Q ctndX Fe(OH); (4
(A) Brown itz (B) White 3 (C) Blue ¥ %,Diny green

(5) Amongthe following _____is the hardest coal. LU el )
(A) Peat ws B)Lignte &/ (C)Bituminous (%% (D) Anthracite A1 A

(6) Reduction of Alkyl haides take place in the presence of - alngband bl @)
(A) Na/dit HCE  (B) Nildil HCt  (C) #n/dilHC¢ (D) Pt

(7) Maltose is generally found in:- 2t A (1)
(AY Mk o1 (B) Cereals Gt (C) Dairy products *Sss5 (D) Cotton /¥

(8) Polymenzation of Amino acids yields:- -‘aféc.tﬁy'!/fgd'ﬁdliu (8)

(4) Carbohydrates J2/%|¥ (B)Lipids 7 (C) Proteins (D) Sugar J
(9) Among the following __ gas is known as fife gas for plants. .{.d%ﬂrjuo’ue:;fr el (9

" o ®) 0, (c) co, (D) ¥,

(10) Amongthe following disease ____ causes liver infiammation. <. KA tuniibe  (10)
(A) Jaundice i, (B)Dysentery v (C) Cholera s (D) Hepatitis (¢l .

(11) Percentage of water in human body is:- +ﬂh3¢’d§¢f’-’w (1)
(A)68 % (8)69 % (C)70% 0)71%

(12) Chaloo Pyt s an ore of <A ___onde w)
(A) Copper /¥ (B) Siver .# (C)lron 7 (D) Zinic £
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